(@) ISSUE DESCRIPTION mOZ #m CHANGED | APP'D | DATE
Customer ECN# PDO7 RY RY
DATE () REV2 8-29-08
1
(79
11/
|
v I
| i
“ ~
* ﬂ ®
|
|
ﬂ ¥ I > o
| IS
! I
J’ I
EY
N
19 1 wire assy 58-2802
: 18 2 wire assy 58-2801
o o o
17 46.0" NRTN SEALING TAPE 1/16 X 1/2 54-8024
16 1 BAG 3 x 4,2MIL ZIP 56-6002
1 12 3/8 FLAT WASHER GR2 ZI 54-8302
1 4 NUT, 1/4-20 FLANGE GRADE 2 ZIN 54-8335
° o 13 24" LOOM 1879
° 2 1 COMPRESSOR WIRE WHITE 58-0208
" 1 COMPRESSOR WIRE YELLOW 58-0207
PLACE HARDWARE IN PLASTIC BAGGIE
10 1 COMPRESSOR WIRE - BLUE 580206
0] , -
o o o © | 11 10-24 X 3/;8 PAN HEAD SCREW 54-8334
12577
5.409 8 2 SCREW 1/4-3/4 SELF TAPPING 54-8355
> > 7 1 TRINARY SWITCH 54-8197-D
6 1 LOW PRESSSURE SWITCH 54-8196-8
o [<
)
1 s 1.333 TECUMSEH COMPRESSOR GROMMMET SE 54-8145
o 4 1 COMPRESSSOR WA 58-2517
3 1 HOUSING BASE 15622
o
12.728 2 1 ADAPTOR LID 15621
(o] (o]
o 1 1 ADAPTOR HOUSING 15623
o
KEY |QTY. | DESCRIPTION PART NO. Unit
Conv.
confidential property of ALLIANCE,
PERRIN MANUFACTURING INC. NEBRASKA
unless otherwise specified Material
dr. PC E
1 place dec. w.O@: «* Tile
2 place dec. + "
[ ] 032 SHORT COMPRESSOR UPDATE
27 566 3 place dec. w.O \_ @:
NOTE: New Part - angular +1° Engr. Ref. Part No.
. Price code Sheet DYNASYS m
No process sheet required sc 1081 58-2800




